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COMMERCE AND ACCOUNTANCY

Paper 1

Time 3 Hours |/ { Maximum Marhs - 300

INSTRUCTIONS

Each question 1s printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. In case of any doubt in the Kannada

text, please refor to English text.

This paper huas four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part,

All questions in Part A, Part B and Part C are compulsory.
Answer any three guestions in Part D.
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PART A dx5=20)
Answer each question in about 50 words. Each question carries 5 marks.
1. {a) What is zero-base budgeting ?
{(b) What do you mean by responsibility accounting ?
(¢} Define optimum capital structure.

(d) Distinguish between tax avoidance and tax evasion.
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PART B 10x10=100

Answer each question in about 100 words. Each question carries 10 marks.

9  What are the different methods of segregating semi-variable or mixed

costs ?

3. Distinguish between capital expenditure and revenue expenditure for the
purpose of verification of assets and liabilities by an auditor.

4, Explain the sources and uses of working capital for preparing the
statement of changes in financial position of a firm.

5. Explain the merits and demerits of internal rate of return (IRR) as a
discounted cash flow technique of capital budgeting decisions.

6. Discuss the key assumptions, contributions and criticisms of Walter’s
Model of dividend relevance.

7. The following is a summary of receipts and issues of materials In a
factory during January, current year :
January 1 Opening balance, 500 units @ Rs, 25 per unit
3  Issue, 70 units
4 Issue, 100 units
8 Issue, 80 units
13 Received from supplier, 200 units @ Rs. 24-50 per unit
14 Returned to store, 15 units @ Rs. 24 per unit
16  Issue, 180 units
20 Received from supplier, 240 units @ Rs. 24-75 per umt
24  Issue, 304 units
25  Received from supplier, 320 units @ Rs. 24-50 per unit
26 Issuc, 112 units
27  Returned to store, 12 units @ Rs. 24-50 per unit
31 Received from supplier, 100 units @ Rs. 25 per unit
Work out on the basis of First-in-First-out (FIFQ) price at wlhich
materials are to be issued and the value of stock as on dJanuary 31

The physical verification revealed that on January, 15 there was a
shortage of 5 units and another of 8 units on January 28,
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8. A company is considering an investment proposal to instal new milling
controls at a cost of Rs. 50,000. The facility has a life expectancy of
5 years and no salvage value. The tax rate is 35 per cent. Assume the
firm uses straight line depreciation and the same is allowed for tax
purposes. The estimated cash flows before depreciation and tax (CFBT)
from the investment proposal are as follows :

Year CFBT (Rs.) Present value of Re. 1 at 10¢%

1 10,000 0-909
2 10,692 0-826
3 12,769 0-751
4 13,462 0-683
5 20,385 0-621

Compute the following :
(a) Pay back period
(b} Average Rate of Return

{c) Net present value at 10% discount rate

9. Calculate price, usage and mix variances from the following data :

Material Standard Actual
Quantity Price Total | Quantity Price Total
(kgs) (Rs.} (Rs.) (kgs) (Rs.} {Rs.)
A 4 1 4 2 3-50 T
B 2 2 4 1 2-00 2
C 2 4 8 3 3-00 9




06/1

(7]

o~
cAoTaton:

-..-.uf_,s-h

[ZToNwy e,

oWeng

-
bt

L]
L%

(Salvage value)

DARIOH

)

HOUT

13
L
.ww \..r.v
&y Hw
o3
o ﬁv
M..lw ﬁW]
34
i (8]
avo hw
o4
N <
I @
2 B
& @
n..CI\ EE
s}
kB
g
13 I’
5
1D
w L
7 >
13
H
b o
7 e
i
D <p
j=
[T A
oy [
~ 3
B S
wmo
aﬂU a%
I
D
B

y
L=]

e
de el e

23

-

A,
(]

Okol BEEY Tona SRR deoe: (CFBT) ewom

L)
&

4

-l .

210

10% <

CFBT (o))

EE

(:909

10,000

1

(-826

10,692

2

(I

[y

12,769

0-683

13,462

4

0-621

0,385

L

FINTRY o

&Eod

¢

1

TJEHLE TO0RO T

ih)

kwi ﬁ, [ ™ o

3 b '
.—.—'w e slll- 0 U. n
B O v R
Bl SRl = & =

i

i3

BN — o

[+0 R

1

e

kM m <+ @
e
gl . =
w s,mu M -t
3% -

ik

()

[ w,

SIS I S B

[ Q-

1
ﬁmu
W < o U
-2

(Turn over



061 {8)

10. From the following prepare a rcconciliation statement :

11.

Net profits as per financial records

Net profit as per costing records

Works overhead under-recovered in costing records

Administrative overhead recovered in excess in cost records

Depreciation charged in financial records

Depreciation recovered in costing records

Interest received but not included in costing records

Obsolescence loss charged in financial records
Income tax provided in financial books

Bank interest credited in financial books
Stores adjustments (credited in financial books)

Depreciation of stock charged in financial books

1,72,400
3,120
1,700

11,200
12,500
8,000
5,700
40,300
750
475

6,750

From *he fallowing information, find out the net income and tax liability

of X (28 years), a resident individual, for the assessment year 2008 - 09 :

Rs.
Salary 1,69,000
Business income (=) 32,000
Capital gain :
Long-term 50,000
Short-term 16,000
Winning from horse races (gross! 35,000

Total 2,438,000
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Mediclaim insurance on his own health
Contribution towards pension fund of LIC

Expenditure on medical treatment of a dependent
relative (being a person with disability)

Deposit for maintenance of dependent relative
(being a person with disability)

Donation to the Govt. of India for family planning
Donation to the Central Welfare Fund of Army (Indian)

Life insurance premium on the life of Mrs, X

_fts.

250
750

10,000

25,000

40,000
4,000

1,000
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PART C

Answer each question in about 150 words. Each question carries

15 marks.

What are the basic elements of an auditor’s report ? Explain the duties

and responsibilities of an auditor.

Explain the major recommendations of Tandon Committee and Chore

Committee on bank credit.

The balance sheets of ABC Ltd. as on 31% March, year 1 and year 2 are

given below :

315 March
Year 1 Year 2
(Rs.) (Rs.)

Share capital 6,00,000 8,00,000
Capital reserve - 20,000
(General reserve 3,40,000 4,00,000
P & L Account 1,20,000 1,560,000
Debentures 4,00,000 2,80,000
‘reditors 2,40,000 2,60,000
Provision for income tax 1,80,000 1,70,000
Proposed dividend 60,000 72,000
Unpaid dividend - 8,000
19,40,000 21,60,000

Fixed costs (at cost) 16,00,000 19,00,000
Less : Depreciation (4,60,000) (5,80,000)
11,40,000 13,20,000

Trade investments 2,00,000 1,60,000
Current assets 5,60,000 6,60,000
Preliminary expenses 40,000 20,000
19,40,000 21,60,000
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During the year 2, the company :

(1)

(i1)
(111)

(av)

{v)

(vi)

You

Sold one machine for Rs. 50,000 the cost of which was Rs. 1,00,000
and depreciation provided on it was Rs, 40,000.

Provided Rs. 1,80,000 as depreciation.
Redeemed 30 per cent of debentures @ Rs. 105.

Sold some trade investments at a profit of Rs. 20,000, which was
credited to capital reserve.

Decided to value stock at cost, whereas previously the practice was
to value stock at cost less 10 per cent. The stock according to
books on 315t March (year 1) was Rs. 1,08,000. The stock on 31%
March (year 2) was correctly valued at Rs. 1,50,000.

Decided to write off fixed assets costing Rs. 28,000 on which
depreciation amounting to Rs. 20,000 has been provided.

are required to prepare the statement of sources and application of

funds during year 2, showing the changes in working capital.

15. Two businesses, AB Ltd. and CD Ltd., sell the same type of product in
the same type of market. Their budgeted P & L accounts for the current
year ending March 31, are as follows :

AB Ltd. CD Ltd.
(Rs.) (Rs.)
Sales 1,50,000 1,50,000
Less : Variable costs 1,20,000 1,00,000
Fixed costs 1_5,_(_]_(_)_(_] 1,35,000 35,000  1,35,000
Net budgeted profit 15,000 15,000

You
(a)
(b)

are required to :
calculate the break-even points of each business.

state which business is likely to earn greater profits in conditions
of (i) heavy demand for the product, (i1) low demand for the
product.
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16. The balance sheet of A Ltd. as on 1% January 2008 and the income
statement for the year ending 31%' December 2008 are set out below :

Balance Sheet

as at 1°* January 2008

Share capital
10% Debentures

Creditors

Rs.

10,000
6,000

3,600

19,600

Rs.
New machine 15,000
Stock 2,400
Debtors 1,200
Cash 1,000
19,600

Income statement for the year ending 815t December, 2008 :

Sales

Cost of goods sold

Opening stock (FIFQ)

Purchases (Net)

Cost of goods available for sale

Less : Closing stock (FIFQ)

Gross profit on sales
Operating expenses

Depreciation

Bs.

2,400
4,600
7,000
2,000

800

1,600

Interest on debentures paid on 31-12-2008 600

Retained earnings

10,600

5,000
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Debtors and creditors balances remained constant throughout the year.
General price indices were as given below :

On 1% January, 2008 200
Average for the year 240
On 31°¢ December, 2008 300

You are required to prepare the final accounts for the year 2008 afier
adjusting for price level changes under CPP method.

Ascertain the value of goodwill of ABC Ltd. carrying on business from the
following :

Balance Sheet as at 30-8-2008

Liabilities Rs. |Assets Rs.
Paid up capital — Goodwill at cost 2,50,000
2,500 shares of Rs. 100
each fully paid 25,00,000
Bank overdraft 4,80,000|Land and building at cost | 11,00,000
Sundry creditors 8,05,000/{Plant and Machinery at
cost less depreciation 10,00,000

Provision for taxation 4,25,000|Stock-in-trade 15,00,000
P & L appropriation Book debts less provision
account 6,00,000|for bad dehts 9,60,000

48,10,000 48,10,000

The company started operations in 2003 with a paid-up capital as
aforestated of Rs. 25,00,000. Profit earned before providing for taxation
have been as follows :

Year ended 30" June Rs.
2004 6,00,000
20056 7,560,000
2006 8,50,000
2007 9,50,000
2008 8,50,000

Income tax @ 50% has been payable on these profits. Dividends have been
distributed from the profits of the first three years @ 10% and from those
of the next two years @ 15% of the paid up capital.
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18.

19.

20.

PART D Ix30=90

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

What points should be kept in view while preparing a written audit
programme by an auditor ? Explain the advantages and disadvantages of
the use of an audit programme.

Discuss the Modigliani and Millar (MM) hypothesis of capital structure
and its implications for designing an appropriate capital structure in the
Indian context.

Sneha Ltd. manufacturing a single product is facing severe competition in
selling it at Rs. 50 per unit. The company is operating at 60 per cent
level of activity at which level sales are Rs. 12,00,000; variable costs are
Rs. 30 per unit; semi-variable costs may be considered fixed at Rs. 90,000
when output is nil and the variable element is Rs. 250 for each additional
1 per cent level of activity; fixed costs are Rs. 1,650,000 at the present
level of activity, but if a level of activity of 80 per cent or above 1s
reached, these costs are expected to increase by Rs. 50,000.

To cope with the competition, the management of the company i1s
considering a proposal to reduce the selling price by 5 per cent. You
are required to prepare a statement showing the operating profit at
levels of activity of 60 per cent, 70 per cent, and 82 per cent assuming
that :

(a) The selling price remains at Rs. 50.
(b) The selling price is reduced by 5 per cent.

Show also the number of units, which will be required to be sold to
maintain the present profits if the company decides to reduce the
selling price of the product by 5 per cent.
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21. Beta Manufacturing Company Ltd., Bangalore was registered with a

nominal capital of Rs. 6,00,000 in equity shares of Rs. 10 each. The
following is the list of balances extracted from its books on 31 March

2008 .
Rs. Rs.
Furniture 7,200|Freight & Carriage 13,115
Calls in arrears 7,500|Salaries 14,500
Plant & Machinery 3,30,000Directors’ Fees 5,725
Business Premises 3,00,000|Bad debts 2,110
Interim dividend paid 37,500|Debenture interest paid 9,000
Stock (1-4-2007) 75,000{Subscribed called-up 4,00,000
and pald-up capital
Sundry debtors 87,00016% Debentures 3,00,000
Goodwill 25,000|Profit & Loss A/c (Cr.) 14,500
Cash in hand 750(Bills payable 38,000
Cash at bank 39,900(Sundry creditors 50,000
Purchases 1,85,000(Sales 4,15,000
Preliminary Expenses 5,000|General Reserve 25,000
Wages 84,865|Bad debts Reserve 3,500
(1-4-2007)
(General Expenses 6,835
Advertising 10,000

The following adjustments have to be made :

{a) Depreciate plant and machinery by 5%, business premises by 2%

and write off Rs. 1,200 on furniture.
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(b) Write off Rs. 1,000 from preliminary expenses.
(¢) Provide for half-year’s debenture interest.

(d) The reserve for bad debts on 315t March, 2008 should be equal to
1 per cent on sales.

(e) Directors’ fees are outstanding to the extent of Rs. 275 and salaries
Rs, 6500.

(f) Goods of the value of Rs. 1,500 were distributed as free samples
during the year. But no entry in this respect had been made.

(2) The stock on 315 March 2008 was valued at Rs. 95,000.

You are required to prepare the Profit and Loss Account for the year
ending 315t March 2008 and the Balance Sheet as on the same date 1n
vertical form.

22, Mr. Gopalswamy desires to invest Rs. 32,000 in equity shares of ABC
Ltd. He seeks your advice as to the maximum number of shares he can
purchase based on the fair value of shares to be determined by you.

The following information is available :

Rs.
Issued and paid-up capital :
6% Preference shares of Rs. 100 each 5,560,000
Equity shares of Rs. 10 each 3,50,000
9,00,000

Average net profit after tax is Rs. 75,000. Expected normal yield 1s 6%
in similar companies. It is found that net assets on revaluation are
worth Rs. 70,000 more than the book value.
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COMMERCE AND ACCOUNTANCY

Paper 2

Time - 3 Hours |} [ Maximum Marks : 500

INSTRUCTIONS

Each question is printed both in English and [n Kannad.

Answers must be written in the medium specified {English or
Kannada} in the Admission Ticket issued to you, which must

be stated clearly on the cover of the answer book in the space

rovided for this purposc. In case of any doubt in the Kannada
b Je .

text, please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part DD
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PART A Ax5=20)

Answer each question in about 50 words. IKach question carries 5 marks.

1. (ay What is organisational structure ?
(b) Define transactional analysis.
{(¢c) What do you understand by personnel audit ?

(d» Define collective bargaining.
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PART B H0x1(=10t

Answer each question in about 100 words. Each question carries 10 marks.
2, Explain the characteristics of a bureaucracy.

3. Discuss the managerial implications of Victor Vroom's Expectancy Theory
of Motivation,

4, Distinguish between ‘strong’ and ‘weak’ cultures. Explain the primary
characteristics that capture the essence of an organisation’s culturec.

5. Explain differeni bases of power in organisations, with suitable examples.

6. Discuss the leadership styles developed by Blake and Mouton in their
‘Managerial grid’.

7. BExplain Kurt Lewin’s Three-step Model of managing change in
organisations.

8. Discuss the key assumptions of Douglas MeGregor’s Theory X and
Theory Y.

9. Explain the functional and dysfunctional aspects of informal organisation.
10. What are the key attributes of the virtual organisation 7

11. Explain the ohjectives of Workers’ Education and the role and relevance
of the Central Board of Workers’ Education in India.
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PART C 6x15=890

Answer each question in about 150 words. Each question carries
15 marks.

12. How do employees respond to organisational politics ? Explain the
‘defensive behaviours’ normally exhibited by employees when politics is
seen as a threat.

13. Explain the major challenges of organisational behaviour as a dynamic
system.

14. Explain the major techniques of executive development in the Indian
corporate sector.

15. Discuss the role and relevance of organisation development (OD)
techniques for improving organisational effectiveness.

16. How do trade unions affect the political, economic and social structure of
the country in the long run ? Explain this in the light of Sociological
Approach advocated by Frank Tannenbaum and Classless Society
Approach of Karl Marx.

17. Discuss the impact of International Labour Organisation (ILO) on the
Indian labour.
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PART D Ix30=90

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

18. Explain the different stages of conflict process in an organisation.

Discuss the managerial implications of conflict management techniques.

19. Discuss the contingency model for leadership developed by Fred Ficdler
and Hersey and Blanchard’s situational leadership theory.

20. What are the sources of resistance to change ? Explain the different
tactics used by change agents to deal with resistance to change.

21. Critically evaluate the various schemes formulated for Workers’
Participation in Management in the Indian industries. What are the
major factors responsible for failure of these schemes in the Indian
context ?

99 What are the main mechanisms to prevent industrial disputes and to
promote industrial harmony ? Discuss the various authorities for the
investigation and settlement of industrial disputes.
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